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The figures in the right-hand margin indicate Sull marks,

Candidates are required to give their answers in their
own words as far as practicable. -

+

Mustrate the answers wherever necessary.

Group—A

Answer any fwo questions taking at least

one question from each sub-group : 15%2
Sub-group — A(a}
1. (a) How does cholesterol ‘esterified ? _
(b) Describe the mechanisni of synthesis of Glutathione.
(c) Discuss about the Inborn errors of amino acid
metabolism,

’ 3+4+8
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2. (a)
(b)
(<)

3. (a)
~ (b)
{c)

4, (a)
(b}
(c)

5. (a)
(b)

6. (a)

(b)

What do you mean by ‘Transmethylation’ and
‘Deamination’?

Write the replication of DNA in brief.

How uric acid is formed from purine? 6+6+3

Sub-group — A(b)

State steroid synthesis in reproductive organ.

Write the principle of photometry.

What are the different possible modes of drug action ?
T+2+6

Write the difference between column chromatography

and gas chromatography.

Describe the ultrastructure of plant cell wall.

What is lonophores ? Mention its importance.

4+6+5
Group—B
Answer any five questions taking at least
two questions from each sub-group : 8x5

Sub-group — B(a)
Describe urea cycle in brief.
Write in brief about electron transport chain. 4+4

State any two inhibitors of transcription process and
state the mode of action of them.

What is Cori Cycle ? (2+4)+2
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7. (a)
(b)

#~ 8. (a)
{b}

9. (a)
(b)

10. (a)
(b}

}1. {a}
T m
12. (a)
(b)

13. (a)
(b)

14. (a)

) {b}

HNlustrate the g-oxidation of an unsaturated fatty acid.

What is Genetic code ? 6+2

Describe the calvin pathway.

Why this pathway is also called C; pathway ? 6+2

State the steps for the formation of ketone bodies.
Write the neoglucogenesis process from glycerol.
5+3
Sub-group — B(b)

Write the protocol for the isolation of cellulose from
plant leaf.

Describe the principle of electrophoresis. 4+4

State the active transport process in detail.

Write role of Auxins in root development. 5+3

State the mechanism of drug resistance.
What is the normal weight of human brain and liver ?
6+2
What are alkaloids and flavonoids ?
Describe the mechanism of action of herbicides.
(2+2}+4
Write the two pigment systems in photosynthesis.

What do you mean by Red drop and Emerson
Enhancement effect of photosynthesis ? 5+3
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15.
16.
17.
18.

19.

20.

21.
22.
23.

24,

Grdup—C

Answer any five questions taking at least
tivo questions from each sub-group : 4x5

Sub-group — C{a)
What do you mean by ketonemia and ketonuria? 4
What do you mean by redox potential ? 4
Distinguish between glycogenesis and glycogenolysis ? 4

Write in short about nucleosome. 4

Write the name of two inhibitors of protein biosynthesis
and mentioning there action. ' 2+2

Sub-group — C(b)

State the features of cross bridge in skeletal muscle fibre. ¥

4
What is Tritrimetry? 4.
Write the principle of centrifuge. 4
What are the functions of adipose tissue? 4

How radio isotopes can be used in biochemical analysis ?
4
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